

3.1 גורם תהי מתקיים את התנאים הבאים:

- 1) $f(z)$ פונקציה בולטת $z \in \mathbb{C}$, היא האוסרת גבול
- 2) $f(z)$ פונקציה בולטת אגרה אצטת גרונות סגורה

3) $M(R) \stackrel{\text{def}}{=} \max_{z = R e^{i\varphi}, 0 \leq \varphi \leq \pi} |f(z)| \rightarrow 0 \quad R \rightarrow \infty$

4) $f(x) = f(-x) \quad x \in \mathbb{R}$

5) $F_c(\sigma) (= \hat{f}_c(\sigma)) = \sqrt{\frac{2}{\pi}} \int_0^\infty f(x) \cos \sigma x dx =$

$= \sqrt{2\pi} i \sum \text{res}(f(z) e^{i\sigma z}), \quad \sigma \geq 0$ (3.1)

5) $f(-x) = -f(x) \quad x \in \mathbb{R}$

6) $F_s(\sigma) (= \hat{f}_s(\sigma)) = \sqrt{\frac{2}{\pi}} \int_0^\infty f(x) \sin \sigma x dx =$

$= \sqrt{2\pi} \sum \text{res}(f(z) e^{i\sigma z}), \quad \sigma \geq 0$ (3.2)

הוכחה

כי 1, 2, 3 מתקיים

$$\int_{-\infty}^{\infty} f(x) e^{i\sigma x} dx = 2\pi i \sum_{k=1}^n \operatorname{res}_{z=z_k} (f(z) e^{i\sigma z})$$

ר'כזמלע $f(z)$ ד'3 קללע דע ר'א גר ק' $z_k, k=1, n$ | אע
 ז'כ (4) | כ ר'כ ר'ר'ר'ר'ר'ר'ר'ר' | ב' | ר'ר'ר'ר'ר'ר'ר'ר' | א'ר
 :ר'ר'ר'ר'ר'ר'ר'ר'ר'ר' :ר'ר'ר'ר'ר'ר'ר'ר'ר'ר'

$$\begin{aligned} \int_{-\infty}^{\infty} f(x) e^{i\sigma x} dx &= \int_{-\infty}^0 f(x) e^{i\sigma x} dx + \int_0^{\infty} f(x) e^{i\sigma x} dx = \\ &= \left| \begin{array}{l} \text{ר'כזמלע } f(x) \\ x := -t \end{array} \right| = - \int_{\infty}^0 f(-t) e^{-i\sigma t} dt + \int_0^{\infty} f(x) e^{i\sigma x} dx = \\ &= \left| f(-t) = f(t) \right| = \int_0^{\infty} f(t) e^{-i\sigma t} dt + \int_0^{\infty} f(x) e^{i\sigma x} dx = \\ &= \int_0^{\infty} f(x) \left[e^{i\sigma x} + e^{-i\sigma x} \right] dx = \left| \cos \sigma x = \frac{e^{i\sigma x} + e^{-i\sigma x}}{2} \right| \\ &= 2 \int_0^{\infty} f(x) \cos \sigma x dx \Rightarrow \end{aligned}$$

$$2 \int_0^{\infty} f(x) \cos \sigma x dx = \int_{-\infty}^{\infty} f(x) e^{i\sigma x} dx = 2\pi i \sum_{k=1}^n \operatorname{res}_{z=z_k} (f(z) e^{i\sigma z})$$

\Rightarrow

$$(F_c(f))(\sigma) = \sqrt{\frac{2}{\pi}} \int_0^{\infty} f(x) \cos \sigma x dx =$$

$$= \sqrt{2\pi} \cdot i \sum_{k=1}^n \operatorname{res}_{z=z_k} (f(z) e^{i\sigma z}).$$

ז'כ (5) -2 e n r e l (4) ק'ק'ר'ר'ר'ר'ר'ר'r' | א'ר
 :ר'ר'ר'ר'ר'ר'ר'ר'r' :ר'ר'ר'ר'ר'ר'r'r'r'

$$\int_{-\infty}^{\infty} f(x) e^{i\sigma x} dx = \int_{-\infty}^0 f(x) e^{i\sigma x} dx + \int_0^{\infty} f(x) e^{i\sigma x} dx =$$

$$= \left| \begin{array}{c} \text{Laplace transform} \\ x = -t \end{array} \right| =$$

$$= - \int_{-\infty}^0 f(-t) e^{-i\sigma t} dt + \int_0^{\infty} f(x) e^{i\sigma x} dx = \left(f(-t) = -f(t) \right)$$

$$= - \int_0^{\infty} f(t) e^{-i\sigma t} dt + \int_0^{\infty} f(x) e^{i\sigma x} dx =$$

$$= \int_0^{\infty} f(x) \left[e^{i\sigma x} - e^{-i\sigma x} \right] dx = \left(e^{i\sigma x} - e^{-i\sigma x} = 2i \sin \sigma x \right)$$

$$= 2i \int_0^{\infty} f(x) \sin \sigma x dx \quad \Rightarrow$$

$$2i \int_0^{\infty} f(x) \sin \sigma x dx = \int_{-\infty}^{\infty} f(x) e^{i\sigma x} dx = 2\pi i \sum_{k=1}^n \operatorname{res}_{z=z_k} (f(z) e^{i\sigma z})$$

\Rightarrow

$$(F_S(f))(\sigma) = \hat{f}_S(\sigma) = \sqrt{\frac{2}{\pi}} \int_0^{\infty} f(x) \sin \sigma x dx =$$

$$= \sqrt{2\pi} \sum_{k=1}^n \operatorname{res}_{z=z_k} (f(z) e^{i\sigma z}) \quad \square$$